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Short answer questions/problems

1.  Which of the following dates associated with dividend payment comes first:  date of record, declaration date, ex-dividend date, payment date?  declaration

2.  List the ways in which the repurchase of shares using transferable put rights differs from the repurchase of shares with a tender offer from the firm’s (not the stockholder’s) perspective.  must issue puts, never have to prorate

3.  If markets are perfect, list the reasons that stockholders should be indifferent to a firm’s dividend policy.  1)  wealth unchanged, 2) can undo dividend by using cash to purchase shares, 3) can create own dividend by selling shares

4.  What basic issue drives the Tax Arbitrage Theory regarding dividends?  some parts of the tax code allow for tax-free dividends

5.  According to empirical evidence, what typically happens to a stock price on the ex-dividend date?  falls by an amount less than dividend in first few minutes of the day

Problems/Essays

1.  X-Box Inc. has no excess cash after taking all of its positive NPV projects.  Despite this fact, X-Box recently announced that it would begin making quarterly dividend payments.  At the announcement, X-Box’s stock price rose.  What would explain this reaction to X-Box’s dividend announcement?

1)  Sends signal that management is optimistic about the firm's future earnings.

Reason:  manager's consider future earnings when set current dividends.

=> if expect earnings to increase in future, more likely to raise dividends today.

2)  Increase chance that firm will have to issue securities in the future

=> intense scrutiny of management when issue securities provides current stockholders with monitoring management

3)  Stockholders gain at the expense of bondholders since when firm pays dividend, value of firm falls => value of stocks and bonds fall.  Since stockholders get entire distribution, net gain

=> risk of firm rises since least risky asset paid out

2.  Clarity Inc. is considering a project which would require an initial investment of $150,000.  The project would produce its first annual net cash inflow of $18,000 two years from today.  After this initial cash flow, net cash flows would be expected to grow by 2% per year through 15 years from today.  If the sales associated with the new project exceed expectations, then the project can easily be expanded.  Similarly, if sales are less than expected the project can be abandoned.  The potential expansion has a value of $12,000 when valued as a call and $1000 when valued as a put while the possibility of abandoning the project as a value of $16,000 when valued as a call but a value of $3000 when valued as a put.  Clarity estimates that the beta of the project is 1.2 and that the standard deviation of returns on the project will be 43%.  The return on T-bills is 3.2% and the expected return on the S&P 500 equals 10.5%.  How will undertaking this project affect the value of Clarity?
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3.
a.  Based on what we know about option theory, explain why an increase in the variance of returns on the firm leads to an increase in stock value and a decrease in bond value.

b.  Explain the intuition behind this result.

Stock is essentially a call on the firm's assets

=> the value of a call increases as the variance on the returns of the underlying asset increases

=> high values benefit stockholders and low values don't hurt since cannot be forced to exercise call

A bond is equivalent to a riskless bond less a put on the firm's assets

=> a put equals a call less the asset plus a risk-free bond

=> as variance increases => value of call increases => value of put increase

=> value of bond falls

Intuition => bondholders have a fixed claim while stockholders have limited liability

=> if high values of assets realized, only stockholders benefit

=> if low values occur, stockholders share loss with bondholders

or

stockholders get all of the upside and some downside while bondholders get none of upside and some downside

4.  How do EVA and accounting net income differ in how they treat expenditures made by the firm?

Accounting => matches expenses to revenues rather than recognizing when paid

EVA => uses accounting expenses but adds interest charge for any net spending that accountants have not yet expensed

=> EVA treatment is consistent with the time value of money and cash flows while the accounting treatment is not

Other differences:

1)  EVA only includes expenses that are part of ongoing operations

2)  EVA doesn't count amortization of goodwill

3)  R&D is capitalized then amortized rather than expensed

4)  Adjusts cost of goods sold to LIFO

5)  Subtract cash taxes rather than accrual taxes

5.  Assume that while Bush was able to cut personal taxes, the new Democratic Senate forces Bush to raise corporate tax rates in order to protect Social Security and Medicare.  Show graphically and explain how this change will affect the optimal total debt issued by all firms and how this will affect the optimal capital structure for a firm with high, stable profits and a firm with low, volatile profits.  (Note:  consider only taxes in your discussion).

Description of graphs:  Graph for all firms:  Corporate tax curve shifts up, personal tax curve shifts down (it looks more like a shift to right).  Equilibrium total debt rises, impact on equilibrium tax rate unclear.  Graph for individual firm:  Corporate tax curves shift up and equilibrium amount of debt is higher.  Tax curve for stable firm is more flat than less stable firm.

Explanation:  total amount of debt increases since corporate tax benefit of debt increases while personal tax penalty falls.  For both firms, the expected tax savings from debt rises, thus the tax curves cross at higher debt levels
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